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Question Number : 1 Question Id : 2549896252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
fpcdi®  FEuA iAo g
Options :

1. ¢ ==

2. % e

3. % dc

4, % Bl

Question Number : 1 Question Id : 2549896252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choices are also referred to as
Options :

1. ¥ options

2. % exit

3. ® boot

4. % folder

Question Number : 2 Question Id : 2549896381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel BTHa! H, T H, Ue e 1 &) IR SR ganfed ard & & w9, g forg & Ty 1o fpar AT B,
S iy e s g

Options :

1. % 3effaRm ()
2. % 3R (,)
3. % Ui fR ()
4. ¥ 98l (2)

Question Number : 2 Question Id : 2549896381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In MS Excel formulas, an adjacent range is specified by giving the starting and ending cell addresses separated by a symbol.
Options :

1. ¥ semicolon (;)

2. % comma (,)

3. % full stop ()

4. % colon (:)
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Question Number : 3 Question Id : 2549896861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data stored in is either modified with extreme difficulty or not at all.
Options :

1. ¥ SRAM

2. # DRAM

3. ¥ cache memory

4. % ROM

Question Number : 3 Question Id : 2549896861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T Ut ST § a1 df SAftd HISTS & 1Y IGaATd foa ST Hava A1 faedd g1 fhdT off b |
Options :
1. ¥ SRAM
2. ¥ DRAM
3. % S AR

4. ¥ ROM

Question Number : 4 Question Id : 2549896884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A port is a socket for external devices to connect to the
Options :

1. # keyboard

2. ¥ mouse

3. % computer

4. ® headphone

Question Number : 4 Question Id : 2549896884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TH U 163} fearsay &t  Siie & e ue gidbe gl

Options :

1. % Plare
2. % HI3Y

3. ¥ HYXR
4. % gSWIHA

Question Number : 5 Question Id : 2549897057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HeX T MY B & foTe foog UTST T IugiT v 72
Options :

1. % TR (Ternary)

2. % gR-dad oS

3. ¢ IR

4. % gfafferagardt (Rusieere)

Question Number : 5 Question Id : 2549897057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
Computers use which language to process data?
Options :
1. # Ternary
2. # High-level language
3. ¥ Binary

4. # Representational

Question Number : 6 Question Id : 2549897888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
STdcHWAF /M o udio! SR Ufieyl &1 T axdr g |
Options :

1. ¢ fUe

2. % g™

3. % Ui Ae

4. ¥ gRUTP

Question Number : 6 Question Id : 2549897888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A uses picture symbols or icons to represent data sets.
Options :

1. % pictograph

2. % histogram

3. % pie chart

4. ® bar graph

Question Number : 7 Question Id : 2549898394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which function returns the inverse hyperbolic cosine of a number in MS Excel?
Options :

1. ¥ HCOS function

2. ¥ HINVCOS function

3. % INVCOS function

4. % ACOSH function

Question Number : 7 Question Id : 2549898394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Excel & S IT R Udh W] HT R gTIURENIH B ol 82
Options :

1. ¥ HCOS R

2. % HINVCOS BhaRH

3. % INVCOS R

4. ¥ ACOSH BaRMH

Question Number : 8 Question Id : 2549898693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which device is used to convert real-world property e.g. temperature into data that computer can process?
Options :
1. ¥ Sensors
2. ® Scanner
3. ¥ MICR
4. ¥ OMR

Question Number : 8 Question Id : 2549898693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
w%g?mﬁr@rﬁaﬁﬁaﬁaﬁ%ﬁmmmmwmw%@ﬁﬁ?amﬁéaﬁ,mmm
X Yhdl 5?2

Options :

1. ¢ YW

2. % PR

3. % MICR

4. % OMR

Question Number : 9 Question Id : 2549898696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o 3ffa I I aret srefareis Wfa ® S cpU 1 TR S Tahd B
Options :

1. ¢ SR AT

2. % &% TR

3. % HiRgd v

4. % gra AR

Question Number : 9 Question Id : 2549898696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is very high speed semiconductor memory which can speed up the CPU.
Options :
1. % Cache memory
2. # Direct Access
3. % Serial Access

4. % Virtual memory

Question Number : 10 Question Id : 2549899180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SIS 31T AT I P © it 3 7 BT U1 A5 S T F T o110 FTER R $IF-91 fEarsy RIfd o= Gavd 62
Options :

1. % fiex

2. ¥ TR

3. % HISHIBIA

4. ¥ 9 HH

Question Number : 10 Question Id : 2549899180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which device can you install on your computer in order to allow a friend to view your live image while you chat online?
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Options :
1. ®¥ Printer
2. ® Scanner
3. ¥ Microphone
4. % Web cam

Question Number : 11 Question Id : 2549899328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TS HIegdfded W-R ol ST MR & RUSR HIgU UGdIsde & w0 H SHT ol 3|
Options :

1. % gic U=

2. % WTHY TR

3. ¥ IRBIS TS

4. % 1 foreq TiffRer OIER (TFT)

Question Number : 11 Question Id : 2549899328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A photoelectric scanner that reads bar codes for data processing is known as:
Options :

1. ® dot pitch

2. % platform scanner

3. ¥ bar code reader

4. % thin film transistor monitor (TFT)

Question Number : 12 Question Id : 25498929722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following has the capability to store data in extremely high densities?
Options :

1. ® Register

2. % Capacitor

3. ¥ Semiconductor Memory

4. # Inductor

Question Number : 12 Question Id : 25498929722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FUfRId B § ST YB3 T HSRUT JUHRU 82
Options :

1 % o

2. % JyIiA

3. ¥ YA S e HARI

4. % IR

Question Number : 13 Question Id : 25498929886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel Formula?

=SUMPRODUCT ({12,12}, {1,1})
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Options :
1. % 24
2. % 26
3. % 1313
4. % 145

Question Number : 13 Question Id : 25498929886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAfIRId MS-Excel BIHA &1 3T3CYC &1 82

=SUMPRODUCT ({12,12}, {1,1})
Options :

1. ¥ 24

2. %26

3. % 1313

4. % 145

Question Number : 14 Question Id : 25498933089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 <} 712 RS R Tem &t STSR YU T BT 82

(128)16=(C_7_ 1
Options :

1. ¥ 10010100

2. % 100101001

3. % 100101010
4.+ 100101000

Question Number : 14 Question Id : 25498933089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the Binary equivalent of given Hexadecimal number?

(128)16=(_7_ )
Options :

1. ¥ 10010100

2. % 100101001

3. %.100101010
4.4 100101000

Question Number : 15 Question Id : 25498934233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Prafd & & Rege 1 ©Re &) e B Uga 533 3 Rig fban s 22
Options :

1. # digc

2./ TUd

3. ¥ Req

4. % Rpls

Question Number : 15 Question Id : 25498934233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
7140
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is used to identify a storage location
Options :
1. ¥ A byte
2. % An address
3. % A word
4. % Arecord

Question Number : 16 Question Id : 2549898157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following error messages is displayed when you do not have appropriate access rights while working with files and folders
in Windows?

Options :

1. ¥ Don’t enter
2. # Wrong access
3. % Access denied

4. % Invalid access

Question Number : 16 Question Id : 2549898157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S 39 U fdSi § wrgal 3R HITER] WR BTH B T JUYdd TR DR (access rights) ﬁﬁ%%wﬁaﬁﬁﬁmw
e T yalRid i 82

Options :

1. ¥ Don’t enter

2. ¥ Wrong access
3. % Access denied

4. % Invalid access

Question Number : 17 Question Id : 2549898217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A user may a server's security measures by finding an alternate path of gaining access to the server.
Options :

1. ¥ bypass

2. % corrupt

3. # crash

4. % scan

Question Number : 17 Question Id : 2549898217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

D13 GoR YR BT TaY U - BT dobfedds AN gadh TR & JR&T IUT Bl IR GHAT G|
Options :

1. ¢ SR

2. % d¥Y

3. % By

4. % W5

Question Number : 18 Question Id : 2549899608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following printers emits droplets of ink which are electrically charged?
Options :
1. # LaserJet
2. ¥ Inkjet
3. ¥ Dot matrix
4. # Chain

Question Number : 18 Question Id : 2549899608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

HIF-7 iR 1) Bt B §al B Iafoid HRal g S fagyq smafda gt 82
Options :

1. ¥ TIoReIC

2. ¥ SDHoIC

3. % gle Afew

4. % I

Question Number : 19 Question Id : 25498910775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following components allows you to print on both sides of a paper?
Options :

1. # Fuser

2. % Toner

3. % Duplexer

4. % Duplicator

Question Number : 19 Question Id : 25498910775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fafied &  H1-91 U, s TR & S RE fife w3 @1 gfer darg?
Options :

1% TR

2. % TR

3. ¥ SRR

4. % ZfQper

Question Number : 20 Question Id : 25498911214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options best describes the instructions that Computer Hardware needs to perform a task?
Options :

1. ® data

2. ¥ software

3. ¥ liveware

4. % skinware

Question Number : 20 Question Id : 25498911214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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ggi%@aﬁ@rﬁq-mﬁwwﬁ%&fﬁ(instructions)mﬂaﬁ 3BT U PHRT § ol DR FIOAR Bl B HRA & [aTY SMAAD
9

Options :
1. ¥ a7
2. ¥ IRAR
3. % TRIRR
4. % fTpIIR

Question Number : 21 Question Id : 25498913424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a general scheme for lossy image compression.
Options :
1. ¥ Non-uniform coding
2. ¥ Uniform coding
3. % Transform coding

4. ® Uniform decoding

Question Number : 21 Question Id : 25498913424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e sﬁ\_ﬂ FIRE (lossy image compression) & ﬁ'l'q Th IH RISl % I
Options :
| % = g S
2. % gRAHT SIS
3. ¢ TRABIH HIfST
4. % g fsmifen

Question Number : 22 Question Id : 25498918474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following devices is considered as both, an input device as well as an output device?
Options :

1. ¥ USB drive

2. % Plotter

3. # Keyboard

4. % Printer

Question Number : 22 Question Id : 25498918474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faffaa o @ oy fSarsa &1 3qe fSargy & ary-amy 3r3eye f$arsy, 3t & U o AT ST 82
Options :

1. ¥ USB gIgd

2. % W

3. % PlalS

4. % iR

Question Number : 23 Question Id : 25498918555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the following operating systems was developed first?
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Options :
1. ¥ MS-DOS
2. % GMOS
3. ¥ MS-Windows
4. % DEC PDP-1

Question Number : 23 Question Id : 25498918555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafad 9 - SR R Iod usd e fyd &1 71s o
Options :

1. ¥ MS-DOS

2. ¥ GMOS

3. ¥ MS-Windows

4. % DEC PDP-1

Question Number : 24 Question Id : 25498919280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

Port 80 is the port number assigned to which commonly used internet communication protocol?
Options :

1. ® FTP - data

2. % FTP - control

3. ¥ SNMP

4. HTTP

Question Number : 24 Question Id : 25498919280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

TIE 80 THT UIE TBAT § Sl HIH-9 STHAR TR FXAHT [T S a1t 3 AR WISidbId Bl Hidt T8 &2
Options :

1. ® FTP — SCI (FTP - data)

2. % FTP — AT (FTP - control)

3. ¥ SNMP

4. ¥ HTTP

Question Number : 25 Question Id : 25498919319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of GUI used on mobile phones?
Options :

1. %" Android OS

2. % Mac OS

3. % Ubuntu unity

4. ¥ GNOME shell

Question Number : 25 Question Id : 25498919319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

NS SR TR ST fobT S a1 GUI BT UHR H1H-37 82
Options :

1. ¢ USIT8 3M.TY. (Android OS)
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2. % A% 3N.TY. (Mac 0S)
3. % Jag gt

4. % GNOME ¥d

Question Number : 26 Question Id : 25498919371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

Putting a CPU, ROM, RAM and data input/output circuitry into a single Integrated Circuit will make a
Options :

1. ¥ dashboard

2. # single-chip microprocessor

3. ¥ megaprocessor

4. % multi-chip microprocessor

Question Number : 26 Question Id : 25498919371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

CPU, ROM, RAM 31R 3T 3Yc/3M3eYc Afhes & Ueh Uhighd Flhe (Integrated Circuit) H ST o 9 ST
Options :

1. % SEIS

2. ¢ RTe-RT ATSHhIUERR

3. % HIMIRER

4. % Hel-FIU AIGDIIRRR

Question Number : 27 Question Id : 25498920707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The IPV4 IP address range of Class A is from 1.0.0.1 to
Options :

1. ¥ 126.255.255.254

2. % 191.255.255.254

3. % 223.255.254.254

4. ® 239255255254

Question Number : 27 Question Id : 25498920707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

AT A B IPV4 [P TS ¥ 1.0.0.1 T IF g
Options :

1. ¥ 126.255.255.254

2. % 191.255.255.254

3. % 223.255.254.254

4. % 239255255254

Question Number : 28 Question Id : 25498922680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the quick and easy way to stop or kill non-responsive processes in Windows 8?
Options :

1. ® Click process name in the Task Manager of taskbar and select 'Close’.

2. # Click process name in the Task Manager of taskbar and select 'Abondon'.

3. % Click process name in the Task Manager of taskbar and select "Kill'.
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4. ¥ Click process name in the Task Manager of taskbar and select 'End task'.

Question Number : 28 Question Id : 25498922680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fderers & ﬁ?—aﬂw (non-responsive) TR &1 A T g (kill) HRA BT @R MR S BT 77 82
Options :

1. % TRHIR &b RS HIoR T Y 1 WR G B3 3R 'Close' T

2. % TRGHIR P TRD TAoR B TR 71 TR e $¥ 3R 'Abondon’ T |

3. % TRGHIR P TRD TAoR B TR 71 R e ¥ 3R Kill |

4. ¢ TRHIR b TRG AIoR T TR 71 W G B3 3R 'End task' T |

Question Number : 29 Question Id : 25498924438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

To increase the response time and throughput of a system, the kernel minimises the frequency of disk access by keeping a pool of
internal data buffer called:

Options :

1. ¥ buffer cache
2. % dispatcher
3. # pooler

4. ® gwapper

Question Number : 29 Question Id : 25498924438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ey & Srfohar THT 3R HREHd &l 9 & AU, FAd ged Sl THR & Jd &I 9T d g S T &t 3mgfa
(re=h) B HH HRATT, 3H BRI

Options :

1. ¥ FOR B

2. % fE@eR

3. % e

4. % WR

Question Number : 30 Question Id : 25498925357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following input devices is used in banks to process cheques?
Options :

1. ¥ OMR

2. % OCR

3. % MICR

4. % Barcode reader

Question Number : 30 Question Id : 25498925357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A% B! T B & e st 7 fFafeiea # § iy gge fearga &1 3uaht faar S g2
Options :

1. ¥ OMR

2. % OCR

3. ¥ MICR
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4. % §R®IS J

Question Number : 31 Question Id : 2549896225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is an E-Commerce?

Options :

1. ® Buying and selling international goods

2. ¥ Buying and selling products and services over the internet
3. ¥ Buying and selling products and services not found in stores
4. % Buying and selling products offline

Question Number : 31 Question Id : 2549896225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

3By 1 87

Options :

1. % AP THH B BRIG 3R s

2. ¢ $TT W MM 3R Fiaersit ot wiie 3R fae

3. % W R T fiem ard ImE SR gaunsit & @lie 3R e
4. % STHETS WHH &1 @lie iR faw!

Question Number : 32 Question Id : 2549896522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What does the term ‘web browser’ usually mean?
Options :

1. ¥ A software

2. % A search engine

3. # A system file

4. # An operating system

Question Number : 32 Question Id : 2549896522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
STHIR TR 39 STIR' g BT 1 312 g2
Options :

1. ¢ U QoIR

2. % TP 9 goi

3. % U ReH BIgd

4. % U JHTRICT Rzen

Question Number : 33 Question Id : 2549896539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a search engine?
Options :

1. # Google

2. ¢ Twitter

3. ¥ Yahoo

4. % Bing
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Question Number : 33 Question Id : 2549896539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
EEEEEIEREETEE S
Options :

1. % T[T

2. ¥ iR

3. % g

4. % fa

Question Number : 34 Question Id : 2549896704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following interface components of the outlook window displays the Calendar, Tasks, Contacts and Mail folder?
Options :

1. ¥ Reading Pane

2. ¥ Navigation pane

3. ¥ Clip Pane

4. ¥ To-Do-Bar

Question Number : 34 Question Id : 2549896704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Outlook fIST & 7 XY Ted B A HH haiex, TR, Hicdc 3R Hd HIes B Uarid HRal g2
Options :

1. % Rfgntm

2. ¢ AfaRA A

3. % fgaqg tH

4. % ¢-g-dR

Question Number : 35 Question Id : 2549897370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I XY faded MS Word 2016 B 9 & 9 forg O 29 & Sudsy 87
Options :

1. ¥ Q33

2. % 3L

3. % fSumg

4. & IBIH

Question Number : 35 Question Id : 2549897370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Cross reference option is available in which of the following menu tabs in MS Word 2016?
Options :

1. # Layout

2. % TInsert

3. ¥ Design

4. ¥ References

Question Number : 36 Question Id : 2549897474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

What is the key combination to open the Find dialog box in MS PowerPoint?
Options :

1. ¥ CTRL+F

2. # CTRL+H

3. ¥ CTRL+R

4. % ALT+R

Question Number : 36 Question Id : 2549897474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint ﬁ, 'Find' STIANT S1dg TeH & ﬁ’l'q frg w TS T UanT faar Siar %?
Options :

1. ¥ CTRL+F

2. % CTRL+H

3. ¥ CTRL+R

4. % ALT+R

Question Number : 37 Question Id : 2549897482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS PowerPoint & T5S W T ff, all slides STIANT SIdT <@ & forw w TS S 91 %?
Options :

1. ¥ CTRL+A

2. % CTRL+S

3. % ALT+A+S

4. % CTRL+A+B

Question Number : 37 Question Id : 2549897482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What is the key combination to view the all slides dialog box in the slide show view of MS PowerPoint?
Options :

1. # CTRL+A

2. ¥ CTRL+S

3. % ALT+A+S

4. % CTRL+A+B

Question Number : 38 Question Id : 2549898038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid Surface chart category in MS Excel 20167
Options :

1. ¥ Wireframe Contour

2. % 3-D surface

3. # Contour

4. % Radar

Question Number : 38 Question Id : 2549898038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Excel 2016 & FHfaf@d & ¥ o9 <t T 34 IR%G 1¢ 307 g 82
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Options :

1. % GRRIH BITR
2. % 3.D FHY

3. % BICR

4. ¥ ISR

Question Number : 39 Question Id : 2549898066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e & ¥ B 1 fJde ToR 91¢ &1 aig Tl 82
Options :

1. % WrgeI A1e

2. % q§dIC

3. % ®RAC

4. ¥ IRAC

Question Number : 39 Question Id : 2549898066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT like a radar chart?
Options :

1. # Spider chart

2. % Web chart

3. ¥ Star chart

4. % Bar chart

Question Number : 40 Question Id : 2549898089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the information from an object is linked in MS-Word and stored in the source file, then information can be:
Options :

1. ¥ deleted, if source file is modified

2. ¥ remains same, if source file is modified

3. ¥ updated, if source file is modified

4. % copied, if source file is modified

Question Number : 40 Question Id : 2549898089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e ft sifesiae &1 BRI MS-Word H i &1 173 8 31k Ud ®13d & TUId 8, d STHHRI 6
Options :

1. % FId BI3d P N WR, gl ol Jhdl &

2. % Fid BIgel b UG W, I & el g

3. ¢ I WIS & YRMeA W, AR (39Se) fwan o Tl 8

4. % G B3d P GMYF W, UfA §713 ST gl 8

Question Number : 41 Question Id : 2549898096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
MS Excel 2016 B Fafofad & 9 fow g Hoie wig & i faewe g7
Options :

1. ® W(Alignment)
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2. ¢ fFAUETS (Clipboard)
3. % i< (Font)
4. % WA (Styles)

Question Number : 41 Question Id : 2549898096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

Which of the following "Home" command groups contains the Paste option in MS Excel 2016?
Options :

1. ¥ Alignment

2. % Clipboard

3. ¥ Font

4. % Styles

Question Number : 42 Question Id : 25498910472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
With respect to MS Word 2016, fill the (?) with suitable option.

Here is the path to make the first letter of each word a capital letter.

Home — ? — Change case — Capitalize Each Word
Options :

1. ¥ Font

2. ¥ Paragraph

3. % Styles

4. % Editing

Question Number : 42 Question Id : 25498910472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Word 2016 & He¥ & () & RIM IR Iugad [dawed 1|
Tl TP Usg &b TYH &R b hicd &R I & forg gy fear mar g

Home — ? — Change case — Capitalize Each Word
Options :

1. ¥ Font

2. # Paragraph

3. # Styles

4. % Editing

Question Number : 43 Question Id : 25498910520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3fd Ms Word 2016 & Ul WSSl &1 HeHISS HRA1 18 & | ITad 3w d & 34 TS HY|

1. AISTE 3R FHaATS & IS DI THRNT HY, ik OK W fFae B3|

2. ASMIT ¢F ¥, Size W fFad B | EEIJU—W fﬁ[@ More Paper Sizes &1 a0 $1 |
3. Page Setupmﬁaumma‘m

4. SlagHc H1 Y§ MHR dd fga1 Sem|

Options :
1.¥23,1,4
2.%2,1,3,4
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3.%2,3,4,1
4. %2,4,1,3

Question Number : 43 Question Id : 25498910520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Ravi wants to customise the page size in MS Word 2016. Below mentioned are the steps to do so. Arrange the steps in the proper
sequence.

1. Adjust the values for Width and Height, then click OK.

2. From the Layout tab, click Size. Select More Paper Sizes from the drop-down menu.
3. The Page Setup dialog box will appear.

4. The page size of the document will be changed.

Options :

1.¥23, 1,4
2.%2,1,3,4
3.%2,3,4,1
4. %24 1,3

Question Number : 44 Question Id : 25498910585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafafed & 3 S Ms Word T IRTITH $S¢ &1 T& 717 UHR 52
Options :

1. ¥ dR gSC

2. % WECISC

3. % TWEAESE

4. % $IgSe

Question Number : 44 Question Id : 25498910585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a valid category of paragraph indent in MS Word?
Options :

1. ¥ Left Indent

2. % Point Indent

3. # Line Indent

4. % Inch Indent

Question Number : 45 Question Id : 25498910629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Chossing which of the following options from the Line and Paragraph Spacing drop-down option form the Paragraph command, will
provide double space into selected part of the document.

Options :
1. % 0.5
2.% 1.0
3. %025
4.%20

Question Number : 45 Question Id : 25498910629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS Word 2016 B Sa¢ T T & fre o181 SRAT ek 1 52
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Options :
1. ¥ 05
2.% 1.0
3. %025
4,20

Question Number : 46 Question Id : 25498910692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What are the parameters present in the find tab from editing group in MS Word 2016?
Options :

1. % Select object, find

2. ¥ Navigation, advanced find

3. % Find, advanced find, Go To

4. ® Select object, select pane

Question Number : 46 Question Id : 25498910692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 ¥, TS J0 & B1ES 29 & o9 I AMSUS (RHIC) Iufyd 8id 82

Options :

1. % Select object (HdldT 31T®d1dd), find (UPI$'5)

2. % Navigation (fdTRM), advanced find (YSAES BIES)

3. ¢ Find (B138), advanced find (TSARS BIgS), Go To (Tﬁ Q)
4. % Select object (YadT JHT&Ide), select pane (TTIFE a'_‘D

Question Number : 47 Question Id : 25498911465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the below mentioned options, identify the checkbox option under AutoCorrect tab which is NOT in Excel.
Options :

1. ® Capitalize first letter of sentences

2. # Capitalize names of days

3. ¥ Capitalize first letter of table cells

4. # Correct accidental use of Caps Lock

Question Number : 47 Question Id : 25498911465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%Q‘TQW'&@, AutoCorrect (\Hﬁm %%ﬁﬁ%ﬁ”@ﬁwaﬁwaﬁa‘ms Excelﬁﬁ%l
Options :

1. ¥ Capitalize first letter of sentences

2. ¥ Capitalize names of days

3. ¥ Capitalize first letter of table cells

4. ¥ Correct accidental use of Caps Lock

Question Number : 48 Question Id : 25498913308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
THUY-TS (MS-Word) & CReH gae faig (Bullet Points) STe & forg fufeiad & @ farg wicare o1 Ui fasan sman g2

Options :
1. % Ctrl + Shift + L
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2. % Ctrl + Alt+R
3. % Ctrl + SHIFT
4. % Ctrl+L

Question Number : 48 Question Id : 25498913308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following shortcuts is used to add a bullet point to the text in MS-Word?
Options :

1. % Ctrl + Shift + L

2. % Ctrl + Alt+ R

3. ® Ctrl + SHIFT

4, % Ctrl+L

Question Number : 49 Question Id : 25498913314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

JUINTH Al gRT SeT Siie a1 fdTe & U # Wferd ©U ¥ T9d &I favga SR Tiérd R 3/ 3t
Options :

1. % RRH IS

2. % -

3. % Al

4,  STHIHS IS

Question Number : 49 Question Id : 25498913314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A will automatically expand and shrink the table as user adds or removes data.
Options :

1. ¥ static range

2. % function

3. % module

4. % dynamic range

Question Number : 50 Question Id : 25498918951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST& 3TT MS Word & farit fafkry gg a1 getrds R o1 91ed &, Y DI Aicwe ga|
Options :

1. # CTRL+H

2. % CTRL+D

3. ¥ CTRL+G

4. % CTRL+C

Question Number : 50 Question Id : 25498918951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

When you want go to a specific page or bookmark in MS Word, press keyboard shortcut.
Options :

1. ¥ CTRL+H

2. ¥ CTRL+D

3. ¥ CTRL+G
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4. ® CTRL+C

Question Number : 51 Question Id : 25498932151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frofifed & ¥ 3 @ difsal SihRiT o T HayAH 981 82
Options :

1. % HEI gTeaTR

2. ¢ SHBR] IAT PRI

3. % gHY B HHI

4. % Rz ! favperar

Question Number : 51 Question Id : 25498932151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a limitation of video conferencing?
Options :

1. # Costly hardware

2. % Information sharing

3. ¥ Time constraint

4. % System failure

Question Number : 52 Question Id : 25498934465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an open-source royalty-free media file format that has been optimized for the Web?
Options :

1. ¥ WebM

2. % WebC

3. ¥ MP3

4. % MP4

Question Number : 52 Question Id : 25498934465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faffad & 3 &F 1 T Siu-IRf Jaed 1 Mifgar wrsd urey § R 39 & fore siffpwmest (erefea) fear marg?

Options :
1. ¥ WebM
2. ¥ WebC
3. % MP3
4. % MP4

READING COMPREHENSION
Section Id : 2549896805
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896846
Question Shuffling Allowed : Yes

Question Id : 25498921061 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Akbar and Birbal

As a boy, Mahesh Das had once met Emperor Akbar. Akbar had been pleased with him and had given him a ring. While giving the ring,
he had said to the young man, “If you want to be a part of my royal court, come to meet me with this ring and I will recognise you
immediately.” Years passed and one day Mahesh again went to see the king.

When he reached the palace gates, the guard stopped him. Mahesh showed the guard Akbar’s ring. The guard was greedy. He said, “I
will let you meet the king only if you give me half of what the Emperor gives you.” Mahesh agreed.

Once inside the palace, Mahesh was taken to Akbar. He showed the Emperor his ring. Akbar smiled and said, “What can I do for you?”
Mabhesh said, “Jahanpanah, punish me with a hundred lashes.”

“What!” Akbar was shocked. “But why?” he asked.

“Jahanpanah, you promised to give me whatever I asked for.”

So Akbar ordered, “A hundred lashes for him.”

Mabhesh suffered a few lashes. He didn’t cry. Then he said, “Stop! Jahanpanah, I promised your guard that I will give him half of
whatever you gave me. Please, give him fifty lashes too.” Akbar burst out laughing. He understood how cleverly Mahesh had told him
about the greedy guard.

The guard was punished and Akbar told Mahesh, “You are truly brave. From now on, we shall call you Birbal, the Wise. You will stay
with me as my minister.”

In due course of time, Birbal became famous as one of Emperor Akbar’s ‘Navratnas’.
Sub questions

Question Number : 53 Question Id : 25498921062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Emperor Akbar gave the young boy, Mahesh Das, a ring because:
Options :

1. ¥ he wanted to reward the boy for his bravery

2. # it would help him to immediately find a job

3. ¥ he thought the boy needed some help

4. % he was pleased with the boy

Question Number : 54 Question Id : 25498921063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Emperor’s guard was:

Options :

1. ® loyal

2. % wise

3. ¥ greedy

4. % poor

Question Number : 55 Question Id : 25498921064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Why did Mahesh ask for a hundred lashes?
Options :
1. ¥ He wanted the Emperor to know about the guard’s nature.
2. % He wanted to shock Emperor Akbar.
3. ¥ He wanted to make the Emperor laugh.

4. % He wanted to become one of Akbar’s ‘Navratnas’.

Question Number : 56 Question Id : 25498921065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Akbar had promised Mahesh that he will give him:
Options :

1. ®¥ a costly ring

2. ¥ whatever he asked for

3. ¥ the post of his minister

4. % a hundred lashes

Question Number : 57 Question Id : 25498921066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

1. ¥ Mahesh was given a hundred lashes for being greedy.

2. % The young boy Mahesh was given the name Birbal, the Wise, by Emperor Akbar.

3. ¥ Mahesh took the ring with him to the palace as it would help the emperor recognise him.

4. % Mahesh promised to share half of whatever he got from the Emperor with the guard.

Question Id : 25498921061 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
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AT Sid & 1Y SR SCLTE SHPeR P Favdl § ¥ T & &Y & URYg 81 U

Sub questions

Question Number : 53 Question Id : 25498921062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

SIGRITE 3fheR H Gl dgdh Hex &N DI T 3F[AI &l Hifds:
Options :

1. % 98 TSP DI IUD! GGG & [o1T Yd BT d1gd A
2. % U IY QA AIHL WioH J Hag Sl |

3. % I T foh A8 &) S Hag Bl oed ol

4. ¥ 98 TSH QYIS U

Question Number : 54 Question Id : 25498921063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JABIMS 4l

Options :

1. ® [y

2. % gfgAH

3. ¢ el

4. % T8

Question Number : 55 Question Id : 25498921064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TR A W HIs T A

Options :

1. + 98 91T YT b SIS &1 S & WHE & IR & udT It |
2. % Ig SIS PR Bl e &1 AgdT Ul

3. % g SIGNITE ! G =6 4Tl

4. % 98 AMHIR & FaRAl H ¥ TP g1 arg Ul

Question Number : 56 Question Id : 25498921065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PR AT AT fFarurfrassy I
Options :

1. % T HEH ST

2. ¢ S Ho W At ag

3. % I HA UG

4. % QRS

Question Number : 57 Question Id : 25498921066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed Fu=i 8 § -9 9 T8 82

Options :

1. ¢ TRY & AT 819 & HRUT Y Bra! b el fiyett ot

2. % AT dASh He¥l Bl SIGYNE 3fbaR GRI FfaHH sSRed o1 ATH fagr mar |

3. % TRY, 3/heR GRS TS S &1 30 a1e 1 FTe faai 3 forg Siepx am T
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4. % SICRIE ¥ $o Ul e IR 7e A TS I ST ST G AT o3 &1 dTaT foan 1|

QUANTITATIVE APTITUDE
Section Id : 2549896806
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896847
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What value will come in place of question mark (?) in the following question?
98 + 14 x 49 — 294 = (7)?

Options :
1. % 14

i

3.7

4 % 196

Question Number : 58 Question Id : 25498914301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :

=T vea & Ted B (?) & B 9T Hi9 @ T H{ee?

98+ 14 X 49 — 294 = (2)?
Options :
% -14

s u V7

3.9 -7

4 % 196
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Question Number : 59 Question Id : 25498928896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Solve the following equation:
51

5 75(4 ><111+23
52 4

Optlons :
303 -
1. ® 4

3
305-
2. 4

s 3031

1
3051

4, %

Question Number : 59 Question Id : 25498928896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foarafor@a gHaoT & g #7|

51? 451 111 23
X 42X F2 et

Options :

303 1
1. % 4

3
305 A

3033
3 % 4

1
4% 3055

Question Number : 60 Question Id : 25498928962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What value will come in place of question mark (?) in the following question?

21+39x29+899="?
Options :

1.¥413

2. % 4538

3.% 44

4. % 342
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Question Number : 60 Question Id : 25498928962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafaRad oy o usyaras fag (2) & R IR 1 JH 3T

21+39x29+899="
Options :

1.¥413

2.% 458

3. % 44

4. % 342

Question Number : 61 Question Id : 25498928966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
The radius of a sphere is 2504/3 cm. A biggest cube is fitted in it. Now, a biggest sphere is fitted within this cube.

The ratio of the volume of the bigger sphere to that of the smaller one is:
Options :
% 371

o #® 2:1
3. 3V3:1

4% 2V3:1

Question Number : 61 Question Id : 25498928966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fordT airer 7 fy=gr 2503 T 2 s'srirt!a:ag?ra's‘ HATFR THS HT AIMAT ATl gl 3¥ 3§ gAHN
@;&#aﬂmwagaasrwmm%w?mﬁ?aﬁmﬁa:mmmﬁawm
Options :

1. ® g :1

2. ® 2:1
3w 3V3:1

4 % 2\1(5-1

Question Number : 62 Question Id : 25498929465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A shopkeeper sells two watches for I308 each. On one, he gets 12% profit and on the other, he suffers 12% loss. His profit or loss per
cent in the entire transaction is:

Options :
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11
1;% loss
1.+

11 .
1 Eofﬁ gain
2. %

2
3;% loss
3. %

2 :
3 — % gain
4 % 25

Question Number : 62 Question Id : 25498929465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
T SR ar TiRd #r T 308 i uE #¥ e ¥ 9T g1 UF W I3 12% FH T U g W 12%
Fr g1l BT ¥ W e F 3¢ Fhaw wfard ot sryET At g £

Options :

1 Mo, arfiy

Lv 287

op =mray
. 125/6

2
SE%B’Iﬁ-’I

3.8

24
4w 325/03”3-1

Question Number : 63 Question Id : 25498929467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If x? + y? + 65 — 2x + 16y = 0, then the value of x* + y® — 3x2y? is:
Options :

1. % 1024

2. %1025

3. % 1024

4. % 1023

Question Number : 63 Question Id : 25498929467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

g x2 4+ y2 + 65-2x + 16y = 0 §, a6 x* + y® - 3x%y? & AT FIT g7
Options :

1. % 1024

2. %1025

3. % 1024

4. % 1023
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GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549896807
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896848
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498912860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Study the following series of elements (letter-number-symbol) and answer the question that follows. Every two-digit number (given in
brackets) is to be treated as a single number.

2*856B9SQ3E17RD4£(13)U@K (18) A (14) P

If each of the letters in the above series of elements is given a value equivalent to its serial number in the English alphabet, what will be
the difference between the sum of the consonants and the sum of the vowels used in the series?

Options :
1. % 27
2.9 41
3. % 82
4. % 109

Question Number : 64 Question Id : 25498912860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

Y T BT ITR o7 P fo1T TS} (3MeR-TRBA-Icl 1) 1 FEfeiiad SRaet &1 UaiT 3| Ul &l 3 g Tl (18 | &1 T5) Bl T
TR /T ST A1 T

2*856B9$SQ3E17RD4£(13)U@K (18) A (14) P

I Ul Y IR Yae H TS 31eR 1AM 3ol qufarar § 3¥d HHid AeR & SRI6R €, dl 39 4ae § TN 1 ard ot
¥ TNT 3R TR & AT & o 3faR 1 g

Options :

1. % 27

2. ¥ 4]

3. % 82

4. % 109

Question Number : 65 Question Id : 25498912872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out how many such pairs of letters are there in the given word each of which has as many letters between them in the word as in
the English alphabet.

COUNTERACT
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Options :
1. ¥ Nil
2. % One
3. % Two
4. % Three

Question Number : 65 Question Id : 25498912872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&0 T Trea # 31&RT & T foba SIS &, T O U & ld a1 81 31&R g Foia Sl quiaTer & 9 oita 82

COUNTERACT
Options :

1. % Y

2. % Ub
3.4

4. % qH

Question Number : 66 Question Id : 25498918985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In the following pair, find two words related to the words already given — one word for each of two related pairs.
I : Increase :: Descend : 1T

L. (1) Grow (2) Decrease (3) Rise (4) Price

II. (A) Reduce (B) Down (C) Ascend (D) Mountain
Options :

1. % 1C

2.9¥2C

3. % 3A

4. % 4B

Question Number : 66 Question Id : 25498918985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafefed gw ¥, usd 9 fau 7 2sal 4 Heftd <l g @il - &1 Feifdd gl § 9 Udsh & for e Wea |
I:de M :: 3dR : 11

I (1) 3 (2) 91 (3) I3 (4) TeA

IL (A) BH DX (B) i (C) FGTS (D) UBTS
Options :

1. % 1C

2.¥2C

3. % 3A

4. % 4B

Question Number : 67 Question Id : 25498919814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a certain code language, if

‘P@Q’ means ‘P is the mother of Q’;
‘P$Q’ means ‘P is the husband of Q’;
‘P#Q’ means ‘P is the sister of Q’;
‘P*Q’ means ‘P is the son of Q’,
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then which of the following indicates the relationship ‘R is daughter of T°?
Options :

1. ¥ T@B#F*R

2. ¥ T@B#R*F

3. ¥ R#F*B@T

4. % RH#F*BST

Question Number : 67 Question Id : 25498919814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
s [fYd g wrw d, afe

P@Q BT Y QB AP B;
‘PSQ’ BT 3 \QBI UM P &,
PuQ HI I QB TETPB;
P*Q BT QBIYIP R

fafaRed for sioie @ g8 uar Tadr g fs ' @ g R 72
Options :

1. ¥ T@BH#F*R

2. ¥ T@BH#R*F

3. ¥ R#F*B@T

4. v R#F*BST

Question Number : 68 Question Id : 25498920154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. ® Taka

2. ® Tugrik (MNT)

3. % Yen

4. % Amman

Question Number : 68 Question Id : 25498920154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

IR et QU MU & 58 I dF 5 Re A T O & 3R U SR B | SRITTd Usg ) UG B |
Options :

1. # CldT

2. % RSP (THTAS)

3.% Y

4. % 3

Question Number : 69 Question Id : 25498927887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to the first word.

Skirmish : War :: Disease : ?
Options :
1. ® Medicine
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2. ¥ Patients
3. ¥ Epidemic
4. ¥ Infection

Question Number : 69 Question Id : 25498927887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Ugd ¢l Weal & S Pls T8 &1 39 Te! fahe BT Ig7 B3 1T JIR Weq J 397 &) Ty |

H_O"ﬂg g CiGIRER:
Options :
1. % gaTg
2. % A
3. ¢ HEHRY
4. % GpHUT

GENERAL AWARENESS
Section Id : 2549896808
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896849
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the columns

Persons Events

A. MacDonald 1. Introduced the Doctrine of Lapse in India
B. Linlithgow 2. Created the Communal Award

C. Dalhousie 3. Proposed the August Offer

D. Chelmsford 4. Introduced the dyarchy system in India
Options :

1. % A-3,B-2,C-1,D-4
2. % A3,B-2,C-4,D-1
3.¢ A-2,B-3,C-1,D-4
4. % A2 B-3,C-4,D-1

Question Number : 70 Question Id : 2549899818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e 3 i R
(et (e l
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A. AH SIS 1. HRd H SFUTd H1 Rigid ar] foban
B. femferumm 2. AveRe sifefota 1wt fean
C. Sagoil 3. 3T 3R T URATd fea

D. THIS 4. YR H TG TR 1 B3 DI
Options :

1. ¥ A-3,B-2, C-1, D-4
2. % A-3,B-2,C-4,D-1
3.¥ A-2,B-3,C-1,D-4
4. % A2 B-3,C-4,D-1

Question Number : 71 Question Id : 25498912531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a chiefly enclosed glass container that is used for growing and displaying plants.
Options :
1. % Terrarium
2. % Aquarium
3. # Shark tank
4. % Column

Question Number : 71 Question Id : 25498912531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Urdl 1 I 3TR 375 UGHRId B & fo1T SUNT b S aTed Rf1R1 & sici ! b 18 A ST STl 82
Options :

1. ¢ ¢AfgH

2. % THRgH

3. % T <P

4. % BIaH

Question Number : 72 Question Id : 25498912760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which team won Asia Cup (Cricket) Trophy 2012?
Options :

1. # Bangladesh

2. % Sri Lanka

3. ¥ India

4. ¥ Pakistan

Question Number : 72 Question Id : 25498912760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

forg <tH 3 TR &y (fohdbe) STt 2012 St
Options :

1. % gRATGR

2. % et

3. % YRd

4. ¢ UIibEd

Question Number : 73 Question Id : 25498932103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time :
Correct Marks : 1 Wrong Marks : 0
Match the columns.

N.A Think Time : N.A Minimum Instruction Time :

0

Persons Well known as
A. Anna Hazare 1. Lawyer
B. Deepak Parekh 2. Banker

C. GVK Reddy 3. Gandhian and social activist
D. Harish Salve 4. Industrialist
Options :

1. % A-1,B-2, C-4,D-3
2. % A-1,B-4,C-2,D-3
3.% A-3,B-2, C-4,D-1
4. % A3 B-4,C-2,D-1

Question Number : 73 Question Id : 25498932103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

% 1 Hferd Bifve:

SHferd

R Rt I ulRig §

A. AT ESIR

1. goid

B. IU% URW

2. SBR

C. Sitdidh X8t

3. TieftaTet 3R JrHTSTh HRIbdT

D. B33 ATed

4. gl

Options :

1. ¥ A-1,B-2,C-4,D-3
2. % A-1,B-4,C-2,D-3
3. % A-3,B-2, C-4, D-1
4. % A-3,B-4,C-2,D-1

Question Number : 74 Question Id : 25498932501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Indian Institute of Pulse Research is located in:
Options :

1. # Allahabad

2. % Kanpur

3. ¥ Faizabad

4. % Lucknow

Question Number : 74 Question Id : 25498932501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
YR Tag TR TR Fgi fRd 82
Options :

1. ® gAlglelq

2. ¥ PR

3. % TporraTg

4. % Q9IS
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Question Number : 75 Question Id : 25498932586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An accused of an offence CANNOT be compelled to be a witness against himself. Which article of the Constitution of India provides
for this?

Options :

1. % Article 20 (3)
2. % Article 21 (1)
3. ¥ Article 22 (2)
4. ® Article 74

Question Number : 75 Question Id : 25498932586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foh it SIURTY & feTq Srf¥gerd fob el Sfekd b1 T o fave: H1alt B4 o fole STed g1 fob T SITE | U8 Ura e YR Hide™ o -9
A 9 oy orfwse | fpar man g2

Options :

1. ¥ 3G 20(3)

2. % 3G 21(1)

3. % 3w 22(2)

4. % 3T 74

English Mock
Group Number : 2
Group Id : 2549894327
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549896809
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896850
Question Shuffling Allowed : No
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Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and
children have fun during this process as they get to explore new arenas.
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A lack of sleep at night can irritate you the next day. And over time, thinking about sleep can mess up more than just your
morning mood. Studies show getting quality sleep on a regular basis can help improve all sorts of issues, from your blood sugar
to your workouts. Here is why you should give your body the sleep it needs. Sharper Brain. You will probably have trouble
holding onto and recalling details when you are running low on sleep. That is because sleep plays a big part in both learning and
memory. Without enough sleep, it is tough to focus and take in new information. Your brain also does not have enough time to
properly store memories so you can recollect them later. Sleep lets your brain catch up so you are ready for the next task. Mood
Boost. Another thing that your brain does while you sleep is process your emotions. Your mind needs this time to recognize and
react the right way. When you cut that short, you tend to have more negative emotional reactions and fewer positive ones.
Chronic lack of sleep can also increase the chance of having a mood disorder. One large study showed that when you have
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insomnia, you are five times more likely to develop depression and your odds of anxiety or panic disorders are even greater.
Refreshing sleep helps you hit the reset button on a bad day, improve your outlook on life, and be better person to meet
challenges. Healthier Heart. When you sleep your blood pressure goes down and gives your heart and blood vessels a bit of a
rest. The less sleep you get, the longer your blood pressure stays up during a hour cycle. High blood pressure can lead to heart
disease, including stroke. Athletic Achievement. If your sport requires quick bursts of energy like wrestling or weightlifting,
sleep loss may not affect you as much as with durable sports like running, swimming, and biking. But you are not doing yourself
any favors. Besides robbing you of energy and time for muscle repair and lack of sleep reduces your motivation which is what
gets you to the finish line. You will face a harder mental and physical challenge and see slower reaction times. Steadier Blood
Sugar. Not enough time in this deepest stage means you do nor get that break to allow a reset like leaving the volume turned up.
Your body will have a harder time responding to your cells needs and blood sugar levels. Allow yourself to reach and remain in
this deep sleep, and you are less likely to get type two diabetes. Sleep needs vary, but on average, regularly sleeping more than
Nine hours a night may do more harm than good. Research found that people who slept longer had more calcium buildup in
their heart arteries and less flexible leg arteries, too. Your best bet is to aim for minimum hours of sleep each night for peak
benefits.
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